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X C x - 4 - o = = x - = i B1 - MAJITM KOMEPLIM JATTHA 1 OENOBHA HAMEHA 1454 9n7 0.6% |F]PECEK
1201 | B | B4-Mommyuja B1, 62, B3, B4, B3 (25%), max 25% 1697m? 1076m2 | H=10.20m | M+2 3225m* | 634% | 1.90 2101 | A A1 B1, B1, B2, 113 (30%) ; B5 (5%), max 30% |  496m* 205m? | H=10.20m | M+2+Mk | 819m* | 413% | 165 2201 A A1 51, B1, B2, /13 (30%) ; 65 (5%), max 30% | _ 500m? 343m* | H=1020m | M+2+Mk | 1374m? | 68.7% | 2.75 0 1-1 CraHbeHa ynuua 1,2
e - " ~ . — > S B2 - TOENIMA TP OBCKW EOVHULIN 16888.4n7 7.0% .
1.2.02 A A1 B1, B1, B2, A3 (30%) ; B5 (5%), max 30% 525m 200m H=10.20m | M+2+Mk 800m’ 38.1% 1.52 2.1.02 A A1 B1, B1, B2, A3 (30%) ; B5 (5%), max 30% 364m? 1987 H=10.20m | M+2+Mk 794m? 54.5% 2.18 2202 A A1l B1, B1, B2, A3 (30%) ; 55 (5%), max 30% 402m? 223m2 H=10.20m | M+2+Mk 891m2 55.4% 2 28 ynmua MaKeppHMJa
1203 | A A B71. B1, B2, 13 (30%) ; B5 (5%), max 30% | _ 590m? 242m? | H=1020m | M+2+Mk | 968me | 41.0% | 164 2103 | A Al E1, B1, B2, 13 (30%) ; B5 (5%), max 30% | 3637 195m? | H=10.20m | M+2+Mk | 780m* | 53.7% | 2.15 2203 A Al B1, B1, B2, 3 (30%) ; 65 (5%), max 30% | _ 359m? 177m® | H=10.20m | M+2+Mk | 707me | 49.3% | 1.97 B4 - [IHI0BHN MPOCTORV 974.6n 0.4% 45501550
1204 | A A1 B1, B1, B2, 3 (30%) ; B5 (5%), max 30% 576m? 179m? | H=10.20m | M+2+Mk | 715m? 31.0% | 124 2104 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 4192 141 H=10.20m | M+2+MK 563m* | 33.6% | 1.34 22.04 A A E1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  348m? 158m? | H=10.20m | M+2+Mk | 631m® | 45.3% | 1.81 B5 - XOTENCKI KOMIIEKCA 561.9m? 0.2% 2 - : =
1205 | A A1 E1, B1, B2, 3 (30%) ; B5 (5%), max 30% 644m? 255m? | H=10.20m | M+2+Mk | 1022m* | 39.7% | 1.59 2105 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 399m? 157m? H=10.20m | M+2+K 627m? | 39.3% | 1.57 2205 A A1 B1, B1, B2, 13 (30%) ; 65 (5%), max 30% |  329m? 147m? | H=10.20m | M+2+Mk | 587m? | 446% | 1.79 b1 - OEPASOBAIVIE - VOATIALITE 1656 7 0% 16.0 15L055 |15
1206 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 265m? 94 H=10.20m | M+2+Mk 377me 36.5% | 142 2106 | B B1 - 73z 72m2 | H=MocTojra n 72m? 98.3% | 098 22.06 A A1 E1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  427m? 172m? | H=10.20m | M+2+Mk | 689m* | 40.3% | 1.61 " '
o - 0,
1207 | A Al B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 4437 210m2 | H=10.20m | M+2+Mk 839m? | 47.4% | 1.89 2107 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 384m= 1082 H=10.20m | M+2+7K 431 | 281% | 1.12 2207 A A1 B1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  384m? 177m? | H=10.20m | M+2+Mk | 709m® | 46.2% | 1.85 B3 - KYNTYPA - My3EJ 304.0m 0.1% PECEK 8.5
1208 | A A1 N 357 117m? | H=TocTojHa m 117me 327% | 033 2108 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 530m? 27 H=10.20m | M+2+Mk g0om? | 42.9% | 1.72 2208 A A1 B1, B1, B2, 13 (30%) ; B5 (5%), max 30% 175m? 113m? | H=10.20m | M+2+Mk | 452m® | 64.4% | 2.58 B4 - APKABHA NHCTUTYLIMW - MONNLIACKA CTAHULIA U NTOKATIHA CAMOYIPABA 3227.8n¢ 1.3% | 00
1.2.09 A A1 B1, B1, B2, 13 (30%) ; B5 (5%), max 30% 415m? 126m? H=10.20m | M+2+1k 499m? 30.0% 1.20 2.1.09 A A1 B1, B1, B2, 3 (30%) ; B5 (5%), max 30% 652m? 336m? H=10.20m | M+2+Mk 1346m? 51.6% 2.07 22.09 A Al 51, B1, B2, 3 (30%) ; 65 (5%), max 30% 179m? 115m? H=10.20m | M+2+Mk 461m? 64.4% 2,58 [12 -3ALITATHO 3ENEHMNIO 355 1 01%
1210 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 139m? 60m? H=10.20m | M+2+Mk | 239m? | 431% | 1.72 2110 | A A E1, B1, B2, 113 (30%) ; 55 (5%), max 30% 252 2337 H=10.20m | me2+nx 033m® | 51.6% | 2.06 2210 A A1 E1, B1, B2, 13 (30%) ; B5 (5%), max 30% 180m? 114m? | H=10.20m | M+2+Mk | 458m® | 63.8% | 2.55 -
1211 | A A B1,B1, B2, 113 (30%) ; 55 (5%), max 30% | 2502 120m? | H=10.20m | M+2+Mk | 518m? | 51.8% | 207 2111 | A A B1. B1, B2, [13 (30%) . B5 (5%), max 30% | 571m? 17am® | he10.20m | mezew | 697 | 30.5% | 1.22 2211 A Al 51, B1, B2, [13 (30%) ; 55 (5%), max 30% |  168m? 100m? | H=10.20m | M+2+Mk | 434n¢ | 64.6% | 2.58 E1 - KOMYHAJIHA WHOPACTPYKTYPA 58930.0n7 24.4% 5(5.50(5.50 R.5 MPUCTAMHW YL
1212 | A A1 - 107m? 86m? H=TocTojHa n 86m? 80.7% | 0.1 2112 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 434m? 136m? H=10.20m | M+2+MK 543m2 | 313% | 1.25 2212 A A1 E1, B1, B2, 13 (30%) ; B5 (5%), max 30% 169m? 110m? | H=10.20m | M+2+Mk | 440m® | 65.1% | 2.60 E2 - KOMYHAITHA CYTPACTPYKTYPA - TPA®GOCTAHM LI 319.2n7 0.1%
1213 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 274m? 133m? | H=10.20m | M+2+Mk 532m? | 48.6% | 1.94 2113 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 224rm2 87m? H=10.20m | ne2+nx 340m® | 39.0% | 1.56 2213 A A1 B1, B1, B2, 13 (30%) ; B5 (5%), max 30% 178m? 114m? | H=10.20m | M+2+Mk | 456m? | 64.0% | 2.56 5 - KOMYHATIHA CYIPAGTPYKTYPA - KATHA FAPAYA 2002.4m? 0.8% 17.0 ynmua Mty Fynm
1.2.14 A A1 B1, B1, B2, A3 (30%) ; B5 (5%), max 30% 308m? 130m? H=10.20m | M+2+Mk 518m? 42.1% 1.68 21.14 A A1 B1, B1, B2, 03 (30%) ; B5 (5%), max 30% 442m? 163m? H=10.20m M+2+MK 653m? 37.0% 1.48 2214 A A1 B1, B1, B2, O3 (30%) ; b5 (5%), max 30% 192m? 114m? H=10.20m | M+2+Mk 458m? 59.5% 2.38
0,
1215 | A Al - 184m? 86m? H=MocTojHa n 86m? 468% | 047 2115 | A X B1. B1, B2, [13 (30%) . B5 (5%), max 30% 249m? Bom? H=10.20m | Te2+nx 35507 37% | 143 2215 A Al B1, B1, B2, A3 (30%) ; 55 (5%), max 30% 411m? 248m? H=10.20m | M+2+Mk 990m? 602% | 2.41 E2 - KOMYHAJTHA CYTNPACTPYKTYPA - ABTOBYCKA CTAHMLIA 3998.9n7 1.7% |NPECEK
1216 | A A1 - 332m? 182m? | H=lecTojHa n 182m? 54.7% | 055 2116 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 285m? 1957 H=10.20m | M+2+Mk 780m? | 68.4% | 274 2216 A A B1, B1, B2, /13 (30%) ; B5 (5%), max 30% |  490m? 200m? | H=10.20m | M+2+Mk | 1161m*> | 59.3% | 237 BKYMNHO 241911.3m? 100.0% +3-3 55 | 11.5
1.217 A A1 B1, B1, B2, O3 (30%) ; B5 (5%), max 30% 200m? 83m2 H=6.00m M+1 166m2 28.6% 0.57 2117 A A1 51, B1, B2, [13 (30%) ; B5 (5%), max 30% 387m?2 217m? H=10.20m M+2+Mk 869m? 56.2% 205 22,17 A A1 B1, B1, B2, O3 (30%) ; B5 (5%), max 30% 439m? 227m?2 H=10.20m | M+2+Mk 907m? 51.6% 2.06 b |
1.2.18 A A1 - 283m? 92m? H=[MocTojHa n 92m? 32.4% 0.32 21.18 A A1 B1, B1, B2, 13 (30%) ; b5 (5%), max 30% 484m? 1967 H=10.20 M+2+4MN 785m? 40.5% 1.62 2218 A A1 B1, B1, B2, O3 (30%) ; B5 (5%), max 30% 384m? 244m? H=10.20m | M+2+Mk 974m? 63.5% 2.54 7.0
81,82 55 (5%), 20m « Sl - 3 d . 0,5.50 ,5.50 .4
1.2.19 A A1 - 174m2 107m2 H=MocTojHa |  M+1 214m2 61.7% 123 2119 A A B1, B1, B2, 113 (30%) . B5 (5%), max 30% 500m? 1577 H=10.20m | me2+nx 6287 59.6% 119 2.2.19 A A1 B1, B1, B2, 3 (30%) ; 65 (5%), max 30% 363m 233m H=10.20m | M+2+Mk 930m? 64.0% | 2.56 BUNAHCHW NOKASATENW 3A BNOK 1.2
1.2.20 A A1 B1, B1, B2, 13 (30%) ; 55 (5%), max 30% 328m?2 140m? H=6.00m M+1 280m? 42.6% 0.85 2.1.20 A Al B1, B1, B2, 113 (30%) ; B5 (5%), max 30% 407m? 2482 H=10.20m | n+2+MNk 993m? 61.0% 244 2220 A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 379m? 238m? H=10.20m | M+2+Mk 952m? 62.8% 2.51 16.5 N
1221 | A AT N 5207 228m | Hefooopma| 1 2| 428% | 043 2121 | A Y E1. B1 B2, [13 (30%) | B5 (%) max 30% | a4on? 22w | Feto.20m | Teoem | seme | 504% | 2.02 22.21 A A1 B1, B1, B2, [13 (30%) ; 55 (5%), max 30% |  677m? 224m? | H=1020m | M+2+Mik | 898m? | 33.2% | 1.33 AYN 3A BNOK 1.2, 2.1 U 2.2, ONWTWUHA r'EBIrEJINJA ynuua l"opye MNeTpos
1222 | A Al R 158m2 123m? | H=rocTojHa | M+1+Mk 369m? 77.8% | 234 2122 | A A1 B1, B1, B2, [13 (30%) ; 55 (5%), max 30% 390m? 188me H=10.20m | M+2+Mk 753m2 | 48.3% | 1.93 2222 A Al B1, B1, B2, 113 (30%) ; B5 (5%), L 30% | 492m? 199m® | H=10.20m | MH+2+Mk 797Tm? | 405% | 162 A1 - NOMYBAHSEBO CTAHBEHN KYKU 55409.9n? 53.7% ynuua Jane CaHpaaHcku
1223 | A A1 - 520m? 167m? | H=rocTojHa m 167me 21% | 032 2123 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 501m? 2237 H=10.20m | M+2+Mk 892m? | 445% | 178 2223 3 B2 Rt B BRba 4202/‘ B3, B4 (40%), max | oot 607m? | H=12.00m | [+2 1821m? | 49.5% | 1.48 A2 - IOMYBAHE BO CTAHBEHM 3rPAMIM 5966 32 5.8% MpuctanHa ynuua 1,2,3,4,5,6,7,8,9,10,11
1224 | A Al B1, B1, B2, 13 (30%) ; B5 (5%), max 30% 705m? 268m2 | H=10.20m | M+2+Mk | 1073m? | 381% | 152 2124 | A A1 B1, B1, B2, [13 (30%) ; 55 (5%), max 30% 351m? 158m? H=10.20m | M+2+Mk 633m> | 450% | 180 2224 A A1 B1, B1, B2, [13 (30%) ; 65 (5%), max 30% |  378m? 189m® | H=10.20m | M+2+Mk | 754m? | 49.9% | 2.00 A4 - BPEMEHO CVECTYBAHKSE 180.8m? 0.2% yniua Bopuc Knppu E
1225 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 496m? 163m? | H=10.20m | M+2+Mk | 651 32.9% | 131 2125 | A A1 B1, B, B2, [13 (30%) : B5 (5%), max 30% 332 1857 H=10.20m | M+2+7k 730m? | 55.6% | 2.22 i 5 == A2, A3, B3, b4, 55, B2, B3, B4 (40%), maX | 1o0.c PEFSITRN PP g e — — i g ynuua Mapwan Tuto
1226 | A Al B1, B1, B2 [13 (30%) ; B5 (5%), max 30% |  507m? 192m? | H=1020m | M+2+Mk | 768m* | 37.9% | 1.52 2126 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% |  228m* T4me | H=10.20m | M+2+Mk | 456m* | 49.9% | 2.00 - 40% ' ' ‘ B1 - MATA KOMEPLMJATIHA 1 [IENOBHA HAMEHN 561.9m? 0.5% T 5 55
1227 [ A AT B1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  415m? 147m | H=10.20m [ Me2+Mk | 587m2 | 35.3% | 1.41 2127 | A A1 B1, B1, B2, 713 (30%) ; B5 (5%), max 30% | 226m? 74m* | H=10.20m | M2+l | 295m* | 32.7% | 1.31 2226 E | B2 Aoy . 2810m? 1967m? | H=10.20m | M+1+Mk | 59%02m? | 70.0% | 210 R prommpe e ynvua [arba bukosa
- ¥ - 0
1228 | A A1 E1, B1, B2, 3 (30%) ; B5 (5%), max 30% 453m? 268m? | H=10.20m | M+2+Mk | 1071m® | 59.1% | 2.37 2128 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 421m? 208 H=10.20m | M+2+Mk 830m2 | 49.3% | 1.97 E2—ABT0E:'I:/ e o
1220 | A Al E1, B1, B2, [13 (30%) ; B5 (5%), max 30% 251m? 159m? H=10.20m | M+2+Mk 636m? 63.3% | 253 2129 | A A B1, B1, B2, [13 (30%) ; 65 (5%), max 30% 435m? 149m? H=10.20m | M+2+Mk 594m2 341% | 137 2227 E Crm - 1189m? 397m? H=10.20m | M+1+Mk | 1190m* | 33.4% | 1.00 | B4 - AENOBH/ IPOCTOM 291.2m? 0.3% MpuctanHa ynuua a
1230 | A X B1, B1, B2, 13 (30%) ; b5 (5%), max 30% | 2227 127m7 | H=10.20m | M2+l | s0ome | 57.2% | 229 2130 | A A1 B1, B1, B2, 13 (30%) ; 55 (5%), max 30% | 504n7 198m" | H=10.20m | Me2+Mlx | 793m7 | 39.3% | 157 T — — - Ofe5 - xoTENnckm KoMmnEKCH 561.9n7 0.5% 2.0 70_L20
1231 | A A1 E1, B1, B2, 43 (30%) ; B5 (5%), max 30% 255m? 145m? | H=10.20m | M+2+Mk |  582m? 57.1% | 228 2131 | A A1 B1, B1, B2, [3 (30%) ; B5 (5%), max 30% 4622 205m? H=10.20m | M+2+Mk 821m2 | 44.4% | 1.78 i B camoynpasa . 1531m* 246m H=Moctoja | M1 492me | 16.1% | 032 L s Ppv=— T E% 11.0
= = - - 0 .
1232 | A A1 E1, B1, B2, 3 (30%) ; B5 (5%), max 30% 283m? 181m2 | H=10.20m | M+2+Mk 724m? | 63.9% | 2.56 2132 | A A1 B1, B1, B2, [13 (30%) ; 55 (5%), max 30% 269m? 139N H=10.20m | m+2+Mx 557m? | 51.8% | 2.07 p—_ B - A2 A3, B3, B4, B5, B2 B3, B4 (40%), max | 1,0, - 280m? | H=17.00m | Mea+Mic | 4734m? | 65.6% | 3.4 314-6,1
1233 | A A1 E1, B1, B2, 3 (30%) ; B5 (5%), max 30% 359m? 188m2 | H=10.20m | M+2+Mk 751m? 52.3% | 2.09 2133 | A A1 B1, B1, B2, [13 (30%) ; 55 (5%), max 30% 679m? 226m? H=10.20m | M+2+Mk 902m? | 332% | 1.33 40% B4 - AIPKABHA MHCTUTYLIMN - MONMULIMCKA CTAHALA 1696.7n? 1.6%
0/ - 0, 0, 2 2 = 0,
1234 | B B4 b1, B2, b3, B5, B4, A3 (40%), max 40% 291me 202m? | H=1250m | M+3 goem: | 69.2% | 277 213 | A A1 B1, B1, B2 13 (30%) ; B5 (5%), max 30% |  691m? 253 | H=10.20m | M2+ | 1011n? | 36.6% | 146 2 1A . e L R R E1 - KOMYHATHA HOPACTPYKTYPA 33204.9r? 32.2%
123 | A A2 B o Dattomt) m g 0 | 778 422m? | HS17.00m | M4+ | 2530m° | 54.2% | 325 21% | A A o1, B1, B2, 13 (30%)  BS (%), max 30% | 415w 194" | H=10.20m | Me2+fk | OS7m" | 990% | 158 >>s T A X i ﬁi gg; ;; = :Z; ; |t e e e oy E2 - KOMYHATHA CYMPACTPYKTYPA - TPAGOCTAHALYA 1102 0.1% 7mn H Mpuctanka yniua 6,8.1.4
- (40%) ; B4(10%), max 40% : : : _ 2 , B1, B2, 6) 5), max 30% m m =10.20m | M+2+Mk 6% : - = : 1% ynuua 7mun Hoemspu
2136 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 323m? 1987 H=10.20m | M+2+M 791m? | 61.1% | 245
1236 | A A1 E1, B1, B2, 3 (30%) ; B5 (5%), max 30% 384mm? 130m? | H=10.20m | M+2+Mk 521m? 33.9% | 136 5 T A > =51 B2 ﬁa E30°/0; = ES"/O; — 30; oo e o zom ™ nK T 80/“ T 2233 A A1 E1, B1, B2, 13 (30%) ; 55 (5%), max 30% |  398m? 216m? | H=10.20m | M+2+Mk | 864n? | 54.3% | 2.17 - K L CTEAE TR YDA - ICATH FAPAEA S0l dne 1 o
- ) ) ) ) i =10. +2+ . . - _ ! :
1237 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 382 130m? | H=10.20m | M+2+Mk 521m? 34.0% | 136 TR > 1B B2 3 (30;) = (50/") — 300/" P o = 20"‘ — n" T2 30/“ & 2234 A A1 B1, B1, B2, 13 (30%) ; b5 (5%), max 30% |  421m? 214m? | H=10.20m | M+2+Mk | 856m? | 50.8% | 2.03 g :
. s s s o), 0), 0 =10.. +2+] .3% .
1.2.38 A A1l B1, B1, B2, 13 (30%) ; B5 (5%), max 30% 210m? 92m? H=10.20m M+2+Tk 368m? 43.8% 175 2139 A A B1, B1, B2, 113 (30%) . B5 (5%), max 30% 503m? 1817 H=10 20m N2 |'|K 7o 35.9% vy 2235 A A1 B1, B1, B2, O3 (30%) ; B5 (5%), max 30% 555m?2 264m?2 H=10.20m M+2+Mk 1057m? 47.6% 1.90 BKynHo 103196 4m2 100 o(y 5 40 40 5
1239 | A A1 B1, B1, B2, 13 (30%) ; 55 (5%), max 30% 150m? 83me H=10.20m | M+2+Mk | 331m | 553% | 221 - i R 2 il > z0.0m | T i : 2236 A A1 51, B1, B2, 13 (30%) ; B5 (5%), max 30% |  398m? 183m* | H=1020m | M+2+Mk | 733m* | 46.1% | 1.84 1
2140 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 431 18272 H=10.20m | M+2+Mk 728m* | 422% | 1.69 13.0
1240 | A A 71, B1, B2, 13 (30%) ; B5 (5%), max 30% | _ 823m? 212m? | H=1020m | M+2+Mk | 847me | 25.7% | 1.03 R ’ ’ - 2237 A Al 61, B1, B2, [13 (30%) ; 65 (5%), max 30% |  503m? 307m* | H=10.20m | M+2+Mk | 1230m* | 61.1% | 2.44 BUTAHCHM MOKA3ATENN 3A BINOK 2.1 : MELAYKA MNMATEKA
2141 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 2937 119n7 H=10.20m | M+2+Mk 476m? | 406% | 1.62
1.2.41 A A1 B1, B1, B2, 3 (30%) ; B5 (5%), max 30% 471m? 148m? H=10.20m | M+2+Mk 590m?2 31.3% 1.25 CXWE A T 51’ 81’ Bz’ 3 (30% i55 50/’ 0% o Pyr — T3eTE 58.5% > 22.38 A Al B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 278m? 170m? H=10.20m | M+2+Mk 681m? 61.2% 2.45
VR Y - 05 T8m® | H=Mocrojra | Mi+1 e | 673% | 135 e - L = (300/")‘ = (50/")’ max 300/" 422m2 197”‘2 H=10.20m | M+2+TiK - 46'60/" = 2= A Al B1, B1, B2, 13 (30%) ; 65 (5%), max 30% |  289m? o1m? H=10.20m | M+2+Mk | 365m2 | 31.6% | 1.26 Ayn 3A BIOK 1.2, 2.1 U 2.2, OMWTUHA FEBrENUJA
A, , B1, B2, ; , max m m H=10.20m | M+2+ m . . y _
1243 | A A - 212m7 149m? | H=MocTojra | M+Mk 2087 | 70.3% | 1.41 TR N e E30‘;; = Eso/‘); — 300/“ o R T 20m — nK R 60/0 T A A1 B1, B1, B2, 13 (30%) ; 5 (5%), max 30% |  683m? 364m* | H=10.20m | M+2+Mk | 1416m* | 51.8% | 207 A1 - IOMYBAHSE BO CTAHBEHI KYKM 57562.7n% 80.3% Mewauka nateka 1.4
L s s s o), ), ( =10. +2+ .07 . H
1.2.44 A Al B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 914> 520m? H=10.20m | M+2+Mk 2080m2 56.9% 228 X n N o1 B2 15 (30%) 5 (5% o SoaE e - m K TR YT e 02241 A A1 B1, B1, B2, [13 (30%) ; 55 (5%), max 30% 332m2 195m? H=10.20m | M+2+Mk 780m? 58.8% 2.35 51 MATI KOVEPLJANTHV V1 FIENOBHA HANEHM 7310 To% ynuua ["eBrennckm napTVl3aHCK|/| O,l:l,pe,l:l,l/l
1245 | A Y - T Tizme | HeTooTojra | M+ 225m? | 35.0% | 070 i . B1, B2, 218 (30%); BS (5%), max 30% m m H=10.20m | M+2+lK A & |2242 A A1 51, B1, B2, [13 (30%) ; 65 (5%), max 30% |  268m? 149m® | H=10.20m | M+2+Mk | 59m | 55.5% | 2.22 _ : :
0, - 0, 0 2 2 - 0 .
1247 A A1 B1, B1, B2, 13 (30%) ; 55 (5%), max 30% 203m? 141mz2 H=10.20m M+2+Mk 563m2 69.3% 277 z:‘]:i 2 2:]] E1' E:]]’ Ez’ ﬁz Ezg;; ! E: EZ;’;’ max zg;u 222”12 2;2”2 :_1g§gm E+§+;K :?;::‘: :2;;} :]];i 2.2.43 A A1 B1, B1, B2, O3 (30%) ; B5 (5%), max 30% 545m?2 185m? H=10.20m M+2+Mk 740m? 33.9% 1.36 c B4 - .ﬂEl'IOBHI/I POCTOPU 683.4n7 1.0% |HPECEK
A, , B1, B2, ; , max m m =10. . . , — '
1248 | A Al b1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  136m* 87 H=10.20m | M+2+Mk | 350m7 | 64.1% | 2.6 TR > T (30;). = (50/") — 300/" oo R R 20"‘ n*z*n" 535 20/" = 2244 A Al B1, B1, B2, [13 (30%) ; B5 (5%), max 30% |  254m? 142m? | H=1020m | M+2+Mk | 569m* | 56.1% | 2.24 O|B3 - KYNTYPA - MY3EJ 304.0n7 0.4% 4-4
1249 | A Al - 198m? 157m2 | H=MoctojHa|  M+1 627m? 79.0% | 3.16 2'1'49 X N 51' B1’ Bz* o (30;)j = (50/")' — 300/“ oo o H_10.20m n+2+r|K o 42'20/" 1'69 2.2.45 A A1 B1, B1, B2, A3 (30%) ; B5 (5%), max 30% 311m? 154m? H=10.20m | M+2+Mk 616m? | 496% | 1.98 & 1 - KOMYHANHA NHOPACTPYKTYPA 12349 Ar? 17 2% n 5
L s s s o), ), ( =10. +2+ £/ . . = b i
12 | A Al B1, 81, B2 113 (30%) | BS (%), max 30% | 798 NAm? | 177020m | ThawTlk | 4%6m? | 14.3% | 057 2150 | A A1 B1, B1, B2, /13 (30%) ; B5 (%), max 30% |  395m” 17w | H=10 20m M2 nK a6om? | 29.7% | 119 2> - ~ B e e E2 - KOMYHATHA CYTPACTPYKTYPA - TPAGOCTAHA 30.4n? 0.0% 2.5:3.8,4.2,4.2/2- sHiatia narera
1. s s s o) ; o), o =10.20m +2+[1K (% . B s - - R £
1251 | A Y| B7,B1, B2, 113 (30%) . 55 (5%), max 30% 3E zorE T 1=1020m | e | e35me B0% | 22 Lk ’ ” i - i ’ 2247 A A1 B1, B1, B2, 13 (30%) ; 65 (5%), max 30% |  386m? 151m? | H=10.20m | M+2+Mk | 602 | 39.0% | 1.56 Ly : 0% y 7
25 | A Y] B7.B1, B2, 113 (30%) - 55 (5%), max 30% | 272m7 30mE r=1020m | oo | 31om | 293% | 117 2151 | A Al b1, B1, B2 [13 (30%) ; b5 (5%), max 30% |  330m 200m H=10.20m | M+24k | 798m 60.5% | 242 2248 A A1 B1, B1, B2, 13 (30%) ; 55 (5%), max 30% |  420m? 176m* | H=10.20m | M+2+Mk | 705m? | 41.9% | 1.68 2.5-3.8/8.2-8.8 ﬂ
= it ' ' ' : : 2152 | A Al B1, B, B2, 13 (30%) ; B5 (5%), max 30% |  302m? 192m? | H=10.20m | M+2+Mk | 786m* | 635% | 2.54 2249 A A B1 B1 B2 003 (30%) - B5 (5% 30% | 485me 157 | H=10.20m | me2+n eoome | 322% | 130 BKYMNHO 71661.9m? 100.0% (U P 5-3.9
1253 | A A B1, B1, B2, [13 (30%) ; B5 (5%), max 30% | 234 93mz | H=1020m | M+2+Mk | 373m7 | 39.9% | 159 — - . . . - 2 B, B2, [} [30%); BS (55), max 30 i e ~i0%m | Thik A | 1 3.2-14.2
oA N - Y 101w Ferooropa | e 1o Fie i % 083 21583 | A A1 B1, B1, B2, 13 (30%) ; B5 (5%), max 30% 199m 103m H=10.20m | M+2+Mk 411m 516% | 206 2250 A Al B1, B1, B2, A3 (30%) ; 55 (5%), max 30% 446m? 183m? H=10.20m | M+2+Mk 732m | 41.0% | 164 EVNAHCHM MOKASATEN 3A BNOK 2.1
< : i 2154 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 2282 110n7 H=10.20m | M2+ 4412 | 482% | 1.93 ; - .
1255 A X B1. B1, B2, 113 (30%) . B5 (5%), max 30% 5207 YT H=1020m | Mezenix 963 26.4% | 185 - ] - e E30;;. = Eso/o; s 300/0 _— o oio 20m n+2+r|K padli * 60/0 = 2.2.51 A A1 B1, B1, B2, A3 (30%) ; 55 (5%), max 30% 366m? 169m? H=10.20m | M+2+Mk 677m? 463% | 1.85 Melwayka nateka 3
1. , s ! o) ; o), o =10.20m K .6% . 0/ ) - 0 0, 2 2 = 0,
125 | A A1 B1, B1, B2, 13 (30%) ; 55 (5%), max 30% |  526m? 200m? | H=10.20m | MH2+Mk | 1198m? | 57.0% | 2.8 2252 A Al B1, B1, B2 [13 (30%) ; BS5 (5%), max 30% | 582m 213m H=10.20m | M+2+Mk | 852m* | 36.6% | 1.46 OYMn 3A BNOK 1.2, 2.1 N 2.2, ONWITUHA FEBrENUJA
215 | A Al b1, B1, B2 [13(30%); B5 (5%), max 30% |  509m* 222m? | H=10.20m | M+2+Mk | 886m° | 43.6% | 1.74 2253 A A1 51, B1, B2, [13 (30%) ; 55 (5%), max 30% |  452m? 175m* | H=1020m | M+2+Mk | 700m* | 38.7% | 1.55 : |MPECEK
1257 | A A1 E1, B1, B2, 3 (30%) ; B5 (5%), max 30% 223m? 125m? | H=10.20m | M+2+Mk 501m? 56.1% | 2.25 = 151, B4 ; : : : : A1 - OMYBAHE BO CTAHBEHM KYKM 28192 0P 42 0%
2187 | A A B1, B1, B2, [13 (30%) , BS (5%), max 30% 350m? 93m* H=6.00m n+1 186m? | 26.5% | 053 2254 A A1 E1, B1, B2, [13 (30%) ; B5 (5%), max 30% 364m? 170m? | H=10.20m | M+2+Mk 67om® | 466% | 1.86 : : 55 2/4-2|9
1258 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 201m? 90m? H=10.20m | M+2+Mk 360m? | 44.8% | 1.79 2 . B1, B2 ; ' : : : -
1259 A T 51,81, B2, 13 (30%) | B5 (5%) 0% o7 e F=10.20 foem 7o 10% 576 2.1.58 A A1 B1, B1, B2, A3 (30%) ; B5 (5%), max 30% 385m? 99m? H=6.00m M+1 199m? 25.8% 0.52 2255 A A1 B1, B1, B2, A3 (30%) ; 55 (5%), max 30% 893m? 293m? H=10.20m M+2+Mk 894m? 25.0% 1.00 A2 - ,uOMyBAHDE BO CTAHBEHN 3|-PA,D,V| 3885.6m? 5.8%
2. o b), max 30% m m: =10.20m +2+TK m 0% . — - — - : - - -
260 1 A Y - ViZE T3Tm? | H=MocTojma = 31 ~7% | 028 2159 | A A - 270m? 107m* | H=MMocTojha | M+l 214m? 39.7% | 079 22.56 A A1 E1, B1, B2, A3 (30%) ; B5 (5%), max 30% |  474m? 137m?> | H=10.20m | M+2+Mk 547m? | 28.8% | 1.15 B1 - MANIY KOMEPLMJATIHV W OENOBHA HAMEHW 16111 0.2% 214.2/4.2|2-
< : : 2160 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 362m? 13872 H=10.20m | M2+ 554m? | 38.2% | 1.53 = 5 0 - z = : E
1261 | A A1 b1, B1, B2, 113 (30%) ; B5 (5%), max 30% |  409m? 2122 | H=10.20m | M+2+Mk | 847m? | 51.8% | 2.07 o T A o BT B9 o) - T e | H nocm-r:a n+1 : 174me | 19 30/0 0.39 222; 2 21 21‘ ;‘ 221 ﬂz (gg; - E:(Z"f _— gg; gg?mz ﬁmz : 1828”1 ??EK ;:g:; :z';; :'2; B2 - TOENIMM TPrOBCKW EOVHALINA 15374.9n? 22.9% 12-13 lNewayka nateka S
L - = + . 0 . i = -
1262 | A A1 B1, B1, B2, 13 (30%) ; 55 (5%), max 30% |  360m? 128m2 | H=10.20m | M+2+Mk | 511m | 35.6% | 1.42 - - — o) - - < 1, . JR sl B (0] i S m m 0m | el o : MEA e e o i -
1263 | A A B1, B1, B2, 13 (30%) ; 55 (5%), max 30% |  343m? 127m2 | H=10.20m | M+2+Mk | 507m* | 37.0% | 148 2162 | A AT - 6om 28m HeMoctojia | M+ Som 462% | 092 ALhd 5 al 51, 841, B2, [ (3]  BG (Fn), max 30% | 4eim Wi | 600w | Mk | 4dam | B8% | 0% 1 J i = 2
2 . B1, B2 ' ; : : 2163 | A A E1, B1, B2, [13 (30%) ; B5 (5%), max 30% 356m? 121r? H=6.00m n+l 242m2 | 33.9% | 0.68 22,60 A A1 B1, B1, B2, 13 (30%) ; B5 (5% 30% 317m? 119m? | H=10.20m | M+2+N a7ame | 37.3% | 1.49 - - 9
1.2.64 A A1 B1, B1, B2, 13 (30%) ; B5 (5%), max 30% 424m? 241m? H=10.20m | M+2+Mk 965m? 56.9% 227 >0 x 7 =1 B1 B2 3(30;). s (50/0) 300/0 yr— pr— — 3567 % 70/0 073 BT EE, JEH D°)f ( .,O)' SIS °° mz mz — m ke o“ 8 B AR A VEE LM IO CANe TR S 1590 up Eo
e T = N - o w7 T Heroopa | AT o s 2 A, . B1, B2, [13 (30%) ; B5 (5%), max 30% m m H=6.00m M+l m 7% . 2261 A A1 B1, B1, B2, [13 (30%) ; 65 (5%), max 30% | 572m 223m H=10.20m | M+2+Mk | 893m? | 39.0% | 1.56 18| 12 3ALITVITHO SETEATIO B A
206 | A Al B1, B1, B2, 3 (30%) ; 55 (5% 30% | 2467 9%m? | H=10.20m | me2+n 3o | 380% | 158 2165 | A Al B1, B1, B2, [13 (30%) ; B5 (5%), max 30% |  319m? 151m? H=6.00m | M1 301 | 47.1% | 0.94 2262 A At B1, B1, B2, 13 (30%) ; 65 (5%), max 30% | _ 601m? 267m* | H=10.20m | M+2+Mk | 1067m? | 44.4% | 1.77 : -
2. N max m m =10. m K m . .
50 54 o) ) o o 2166 | A A1 E1, B1, B2, 13 (30%) ; B5 (5%), max 30% | 3187 1497 H=6.00m n+l 208mz | 46.8% | 0.94 2263 A A1 B1, B1, B2, 13 (30%) ; 65 (5%), max 30% |  264m? 79m? H=1020m | M+2+Mk | 315m2 | 29.9% | 1.20 E1 - KOMYHATIHA MHOPACTPYKTYPA 11176 .4n? 16.7% [Mewayka nateka 6
1267 | A A b1, B1, B2, 213 (30%) ; BS (5%), max 30% |  180m® 124m? | H=10.20m | w2+l | 49%6m* | €9.1% | 277 2167 | A AT 3407 119mF | H=roctojpa | 1+l 23z | 349% | 070 B5 (15%) ; 51,64(20%) ; B2 (30%) ; B3,13 E2 - KOMYHATTHA CYMPACTPYKTYPA - TPAGOCTAHA 178.6n7 0.3%
. - = + 9% ) o) ; b1, 0) ; 0) ; B3, " - -
1.2.68 A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 380m? 139m? H=10.20m | M+2+Mk 557m? 3B.7% | 147 > 7108 A T Ty o e p———) Frm- oa% T 2264 | A A2 (40%) : BA(10%), max 40% 2225m? 880m* H=22.00m | M+5+Mk |  6161m* [ 39.6% | 2.77 L : =
L - = + . (] . L L
1.2.69 A A1 B1, B1, B2, O3 (30%) ; B5 (5%), max 30% 264m2 98m? H=10.20m | M+2+Mk 391m? 37.1% 1.48 2265 A A1 B1, B1, B2, A3 (30%) ; 55 (5%), max 30% 433m? 148m? H=10.20m | M+2+Mk 593m?2 34.3% 1.37 E2 - KOMYHATTHA CYTPACTPYKTYPA - ABTOBYCKA CTAHMLA 3998.9n? 6.0% 2 5
2169 | A A1 51, B1, B2, {13 (30%) : B5 (5% 30% 396m= 113n7 = 225m2 | 285% | 0.57 el ; '
1269 | A A1 - 126m? 93m? H=TocTojHa | M+2+Mk 373m? 73.9% | 296 5170 A 1 = 1’ 5 1’ Bz’ ga E300/° ;f " ESO/O ; EZ 300/0 = 422 o 422 :_z'ggm 2:1 32822 %1 ; 07 2266 A A1 B1, B1, B2, A3 (30%) ; 55 (5%), max 30% 451m? 112m? H=10.20m | M+2+Mk 4497 24.9% | 0.99
1270 | A AT B1, B1, B2, 713 (30%); B5 (5%), max 30% | _ 410m 122me | H=10.20m | waelic | 487me | 290% | 119 a o T 0T B B 30 - T e oo T35 T o 2267 | A Al B1, B1, B2, /13 (30%) 55 (5%), max 30% | 308m* 169m* | H=1020m | M+2+Mk | 677mF | 56.1% | 220 BKYMHO 67052.9m* 100.0%
1.2.71 A A1 51, B1, B2, 13 (30%) ; B5 (5%), max 30% 399m? 119m? H=10.20m | M+2+Mk 474m? 29.7% 1.19 217 A A o1, B1, B2, /13 (50%) , B (5%), max 30% 629m 209m H=6.00m M+l 599m 195% | 087 2.2.68 A A1 B1, B1, B2, A3 (30%) ; 65 (5%), max 30% 280m? 163m2 H=10.20m | M+2+Mk 653m? 58.2% | 2.33
2172 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 334m? 1582 H=6.00m n+1 3NTm? | 47.4% | 0.95 il ‘ '
1272 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 404m? 151m? | H=10.20m | M+2+Mk |  603m? 37.3% | 149 XN v v PP P Ererere—s > oo 285 T 006 2269 A A1 B1, B1, B2, 13 (30%) ; b5 (5%), max 30% |  541m? 245m? | H=10.20m | M+2+Mk | 979m® | 452% | 1.81 AHATVI3A 110 BTIOKOBM
- L - m m =IloCcToJHa M+, m .070 A "
1273 | A A1 E1, B1, B2, 13 (30%) ; B5 (5%), max 30% 197m? 93m? H=10.20m | M+2+Mk 373m2 | 47.4% | 1.90 o 2270 A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 470m? 124m? | H=10.20m | M+2+Mk | 49m® | 26.4% | 1.06 '
- " ~ ~ : ~ . «| 2174 | A A1 51, B1, B2, [13 (30%) ; B5 (5%), max 30% 318me 15372 H=6.00m Ml 306m2 | 48.0% | 0.96 A3 ( oo)‘ ( oo) = i b . % — _
1274 | A A1 80m 50m H=TocTojHa n 50m 62.5% | 0.62 5 . : _ _ . - 22.71 A A1 B1, B1, B2, 13 (30%) ; b5 (5%), max 30% |  270m 78m H=10.20m | M+2+Mk | 313m? | 29.0% | 1.16 o o B e < - S
1275 A Al - 105m? 54m? H=MocTojHa n 54m? 51.6% | 052 G 217 A A - o%m 248m H_HOCTOJ_Ha i+l 495m 40% | 08 2272 A A1 B1, B1, B2, A3 (30%) ; 65 (5%), max 30% 448m?2 165m? H=10.20m | M+2+Mk 659m? 36.7% | 1.47 T gt i E 2E £ 2 E 2
- . . - _ . . 2176 | A A1 B1, B1, B2, [13 (30%)  B5 (5%), max 30% 533m? 188m7 | H=rlocTojna | M+2 565m? | 35.3% | 1.06 2 - - - . - ~ o T = g E © o CQ el
1276 | A A1 150m 48m H=TocTojHa n 48m 21% | 032 TR N =151 52 75 (30%) £5 (5%) o e oo o o~ sior 1 350% T 0% 2273 A A1 B1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  305m 97m H=10.20m | M+2+Mk | 388m? | 31.8% | 1.27 5 Isc g o % £ 0 g =
. , B1, B2, : , max m m =6. m . )
1277 | A A1 E1, B1, B2, 3 (30%) ; B5 (5%), max 30% 295m? 108m? | H=10.20m | M+2+Mk |  434m? 36.8% | 147 s TR ~ 1o (300/") -~ (50/") 300/" oo P . eoom n+1 o 50/" T 2274 A A1 B1, B1, B2, 13 (30%) ; b5 (5%), max 30% |  318m? 154m? | H=10.20m | M+2+Mk | 614m® | 48.3% | 1.93 = igg R é 35 =1 g s 3
N , , s N , Mmax m m =0. m' . A
1278 L A al - SlAlus " {feflocojwal T 1677 | Too% | 04 2179 | A A1 B1, B1, B2, A3 (300/:)' B5 (50/:) T T 200m | He6 oom I'Iil vem [ seon | 070 == A al G, B, 12, J5S O] B (), e AR, | SR 15om” | H=1020m | Me2eflc | 6297 | 986% | 14 85§ 8 & 88 = g 2
1279 | A A1 - 84rm? 63m? H=TlocTojHa m 63m? 75.1% | 075 TR o~ Rl ‘ ’ o T m o e 35 2276 A A1 E1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  243m? 76m? H=10.20m | M+2+Mk | 304m? | 31.3% | 1.25 C = [ S e S g
1.2.80 A A1 - 95m? 87m? H=MocTojHa n 87m? 91.6% 0.92 2.’1.8’1 A N TRYRTN 300/‘. e o 386m2 128m2 =[locTojHa | M+1+Mk 512m2 33'10/" 1'33 2277 A A1 B1, B1, B2, O3 (30%) ; B5 (5%), max 30% 176m? 115m? H=10.20m | M+2+Mk 461m? 65.4% 2.62 1.2 86404m?2 42820m2 149647m?2 49 6% 17
1281 | A Al B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 161m? 109m? | H=10.20m | M+2+Mk | 436m? | 67.7% | 2.71 T R N 5 ﬂa (300/") — (50/")’ max 300/" 436”‘2 187”‘2 H=10.20m | M+2+Mx 375m2 43‘00/" o 2278 A A1 E1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  459m? 117m? | H=10.20m | M+2+Mk | 468m® | 25.5% | 1.02 2'1 T ST T T T 3
1282 | A A B1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  475m? 252m7 | H=10.20m | M+2+Mk | 1007m2 | 53.0% | 2.12 T ~ T ﬂa (300/") — (50/”)’ max 300/" 427m2 155”‘2 H=6.00m i+l 311"'2 36'40/" — 2279 | A A2 B5 (15%21(;3515;22?;:/) ;B2 (32:@? B33 [ o5 205m? | H=14.00m | M+3+Mx | 1024m? | 69.3% | 347 : e .
1285 | A Al B1, B1, B2, 13 (30%) ; B5 (6%), max 30% | 512m? 122m? | H=1020m | M#2+Mk | 4887 | 23.8% | 095 T - T ﬁa (300/")‘ = (50/”)’ o . H=6.00m | M+l T e o SRR ot o EaT 2.2 55466m? 29130m?|  136405m?|  52.5% 2.5
; - , . ;B1, ; ; B3, , : 3 . :
1284 | A A1 E1, B1, B2, 3 (30%) ; B5 (5%), max 30% 384rm? 172m? | H=10.20m | M+2+Mk | 688m? | 44.7% | 1.79 TR N TR (300/")j - (50/”)’ max 300/" 372m2 212m2 H=6.00m M+l 424m2 = 00/“ - 2280 | A e (40%) ; B4(10%), max 40% i i PAAEOm | Tiedells | el | B4R | 208 BkynHo Brnok
1285 | A Al E1, B1, B2, [13 (30%) ; B5 (5%), max 30% 245m? 116m2 H=10.20m | M+2+x 264m? 473% | 1.89 s . B1, B2, 113 (30%) ; BS (5%), max 30% mz m2 ':'=6'°°r_” n+1 mz — : 2281 A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 500m? 197m? | H=10.20m | M+2+Mk 787Tm | 39.3% | 1.57 12 211 2.2 201183.2m?| 96279.9m?| 369680.7m?| 47.9% 1.8
1286 | A A1 B1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  342m? 208m7 | H=10.20m | MH2+Mk | 833m? | 60.8% | 243 ;:':(75 2 21 — 300/'_ — — :Z?mz 1;;”‘2 H=floctoja |  M+1 zgimz :ig;’ (1)'2: 2282 B 51 A1, A3, 54 (20%), max 20% 161m? 107m? H=6.00m | M+1 214 | €6.5% | 1.33 oo :
1287 | A Al B1, B1, B2, 13 (30%) ; B5 (5%), max 30% | 323m7 13Im? | H=10.20m | Mw2+Mlk | 623me | 40.4% | 162 ot — . B1, B2 73 (30%) | BS (5%), max 30% 5osm2 216”‘2 H:G'OOW i+l 433"‘2 e e 2283 | A A2 B5(15%); B164(20%) B2 (30%); BS3 | gygme 33om? | H=17.00m | Mea+Mk | 2034m? | 41.4% | 2.49 AEMOTIPA®CKA AHAIIU3A
1288 | A A1 B1, B1, B2, 113 (30%) ; 55 (5%), max 30% | 1902 %om? H=1020m | M+2+Mk | 360m* | 47.4% | 1.89 i - m m ~loctojha| M+l m el (40%) ; BA4(10%). max 40% ___ ~ ~ — - o e © o s
~ e ~ ~ ~ ~ — ~ ~ 21.89 A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 260m? 150m2 H=6.00m n+1 301m? 55.9% 1.12 22.84 A A1 B1, B1, B2, O3 (30%) ; B5 (5%), max 30% 266m 66m H=10.20m | M+2+Mk 264m? 24.8% 0.99 o NE & & . £ 5
- 1.2.89 A A1 B1,B1, B2, A3 (30 A)) ; b5 (5 A)), max 30% 229m 121m H=10.20m [M+2+Tk 484m 52.8% 2.1 2190 ry X B1. B1, B2, [13 (30%) . B5 (5%), max 30% 230m? 141 H=6.00m ) 282m? 59 0% 118 2285 B B4 B1, B2, B3, 55, B4, A3 (40%)‘ max 40% 2199m2 1539m?2 H=14.00m n+3 6158m?2 70.0% 280 s g § ~— % g 5 @ =
x| 1290 A A1 B1, B1, B2, A3 (30%) ; B5 (5%), max 30% 297m? 137m2 H=10.20m | T+2+Mk 549m2 46.3% 1.85 i R v . : 2 - - 2 5 (=] SRS S o s 5z S
] 2.1.91 A Al B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 255m? 133 H=10.20m | M+2+Mk 531m? 521% | 2.08 228 E E2 - 23m? 22m H=TocTojHa n 22m 9%6.5% | 0.9 c 35 Jo m 3 S =
S| 1291 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 324nm 151m? | H=10.20m | M+2+Mk | 606m? | 46.7% | 1.87 il ‘ ’ : == B = == = e = = o | O a = g0 BET 2 & 3 ©
T 2192 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 269rm? 167 H=10.20m | M+2+Mk | 667m* | 621% | 248 2 - m =4.0m m 4% : a3 o @ W R T
1292 | A A1 E1, B1, B2, 3 (30%) ; B5 (5%), max 30% 368m? 142m? | H=10.20m | M+2+Mk |  569m? 38.7% | 155 S = = B o - P JREE | TR o= S 2 @ =
2.1.93 A A1 B1, B1, B2, 43 (30%) ; B5 (5%), max 30% 278m? 163m? H=10.20m | N+2+Mk 653m2 58.7% | 2.35 - - m H=4.0m n m D% : C = [= ] O
1293 A al B1, B1, B2, 13 (30%) , BS (%), max 30% 251 127m? HE10.20m | Mvas M >10m* 50.9% 208 2.1.94 A A1 B1, B1, B2, 3 (30%) ; B5 (5%) 30% 328m2 179m? H=10.20 M+2+M 715m2 54.4% 2.18 BkynHo 555212 29170n? 136543m? | 52.5% | 2.46
L o), ©), max (] m m =10.20m +2+[1K m 470 . - 5
1.2.94 A A1 B1, B1, B2, 43 (30%) ; B5 (5%), max 30% 335m?2 103m? H=10.20m | M+2+Mk 412m? 30.7% 1.23 N : : P Al (382 06j.
1.2.95 A A1 B1, B1, B2 gs EsoO/o ; B5 25"/0 3 max 300/0 310m2 113m?2 H=10.20m | M+2+Mk 452m? 36 50/0 1.46 21.9 A al B1, B1, B2 /13 (30%) ; BS (5%), max 30% 627m* 244m? H=10.20m | M+2+M 975m* 38.9% 1.%6 b it ol 12009m* oooroma Mo L 159 5541(§ 2 - 22939m? 80843m3
L ’ f ) °), ©), 0 =10. . 0% .
219% | A A1 B1, B1, B2, [13 (30%) ; 55 (5%), max 30% | 3577 177me | H=10.20m | Me2+Mk | 708m? | 496% | 1.98 | |A2-[OMYBAHEBO CTAHEEHM 3rPAOM 3886m7  1705m2 10904m?| 43.9% | 2.81 1.2 m m m
129 A Al B1, B1, B2, 13 (30%) ; BS (5%), max 30% 419m* 167m* H=10.20m | M2+l 668m* 39.9% 1.60 2.1.97 A A1 B1, B1, B2, 13 (30%) ; B5 (5% 30% 391m? 180m?2 721m? 46.1% 1.84 B1- MAJIM KO JATIHA U OENOBHA HAMEHA 161m?2 107m?2 214m2| 66.5% 133 2.1 57563m?2 23375m? 80450m?| 3598
1297 A Al B1, B1, B2, [13 (30%) ; 55 (5%), max 30% 352m? 135m? H=10.20m | M+2+Mk 539m? 38.3% | 1.53 2'1'98 A o~ 51’ B1* Bz* ﬂa (300/") * — (50/“)' max 300/" 473”‘2 180”‘2 H=10.20m | M+2+Mk 719“"2 38-00/" 1-52 MEPLY/ m m m2| 66.5% : ! i i 1
o N = . . - 2| 2 2 0,
1298 | A Al B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 238m2 105m2 H=10.20m | M+2+Mk | 419m? 440% | 1.76 o TR N 51' 51] Bz* - (300/")j — (50/")' max 300/" 385””2 mmz H=10.20m | M+2+Mk 873"‘2 - 70/0 = B2 - TOENMA TRrOBCKW EQVHULA 15375m 10458m 60924m2?| 68.0% | 3.96 9.2 28192m 12669m 50676m
1200 | A A B1, B1, B2, 113 (30%) ; 55 (5%), max 30% |  395m2 205m® | H=10.20m | M+2+Mk | 819m® | 51.9% | 2.07 ik . B1, B2 A3 ( O°)j (0”)’ Mliabetl s - H=10.20m | M2+l s 1< B4 - AENOBHN MPOCTOPK 2199m?  1539m? 6158m2| 70.0% | 2.80 BKYMHO 141164.6m?|  58982.5m2| 211969.4m?
12100 | A A - 203m 101mz | H=Moctojpa| M 101 | 313% | 031 21100 | A Al B1, B1, B2 713 (30%) . BS (5%), max 30% | 389m 122m H-10.20m | M+2+Mlk | 487 31.3% | 125 | g4~ iPKABHA MHCTUTYLWM - IOKATHA CANOYTPABA 1531m? 246m? 492m2| 16.1% | 0.32
20 A i P - — : . . 21101 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 139m? 98m? H=10.20m | M+2+7k 3¢2m? | 702% | 2.81 A2
2. - m 105m H=TocTojHa n 105m 40.1% | 0.40 E2 - KOMYHATTHA CYMPACTPYKTYPA - TPAGOCTAHMLIA 179m? 82m? 82m2| 45.9% | 0.46 > = B
o A " - o o1m | Fefooroima = o T 200%™ o0 21102 | A A1 B1, B1, B2, [13 (30%)  B5 (5%), max 30% 219m? 84m? H=10.20m | M+2+MK e[ 385% | 184 | e ) 2 _ ki 12 5966m 2734m 15615m
EXTCA R N P e o T 3005 030 21.103 | A AT B1, B1, B2, 113 (30%) ; B5 (5%), max 30% | 645m° 212 | H=10.20m | M+2+Mk | 846mz | 32.8% | 1.31 - =5 i 3999m 2364m 7092m?| 59.1% | 1.77 51 ; ; ; 387
- - = . 0 . -
FERTYR R i~ - P i H=I'Ioc‘ro}Ha - T o 21.104 | A Al B1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  205m? 1037 | H=10.20m | Me2+Mk | 412m | 502% | 2.01 COOEPAKAJ U 3ETEHWNO 11532m? 52 T rrrr— -
1'2'105 A " 3337 T2an e p—— = 2an 43'40/ 0'43 21105 | A A1 B1, B1, B2, 3 (30%) ; B5 (5%), max 30% 425m2 145m? H=10.20m | M+2+Mk 581m? 34.2% 1.37 BKYINHO BJ1OK 2.2 67053m? :
WL - - . 0 .
28 A " e o — d v T YRR 21106 | A A1 51, B1, B2, [13 (30%) ; B5 (5%), max 30% 230m? 110N H=10.20m | M+2+K 438m? | 47.6% | 1.90 BKYMNHO 9851.9m?2 15403.0m2| 66290.6m?
2. - m m’ =l l0CTOJHa m . .
e - — o L 21107 | A A E1, B1, B2, [13 (30%)  B5 (5%), max 30% | 487> 216mF | e10.20m | Tw2enk | 8some | 444% | 176 BkynHo Brok 1.2,2.1 n 2.2 | 201238m: | 96319m | |369725m: | 47.9% | 184 — ST R ——— —
L. - m m’ =[10CTOJHa m’ 1% . = o .
12106 | A A pyTo YT H—I'IOCTDJ‘Ha o YT w57 033 2.1.108 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 455m? 127 H=10.20m | M+2+Mk 506m* | 27.8% | 1.1
L. - = . 0 .
12109 | A Al 2427 9om? H‘I'Ioc‘roJ'Ha Met+lk | 296me | 40.9% | 1.23 21109 A Al B1, B1, B2, 13 (30%) ; BS (5%), max 30% |  343m* 102m* | H=1020m | M+2+Mk | 407m* | 29.7% | 1.19
L. - - . 0 .
d 21110 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 345m? 1087 H=10.20m | M+2+K 430m* | 312% | 1.25
12110 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 6112 240m2 | H=10.20m | M+2+Mk 960m? 39.2% | 157
21111 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 376m? 145 H=10.20m | M+2+K 580m2 | 38.6% | 1.54
12111 A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 646m? 254m? | H=10.20m | M+2+Mk | 1017m? | 39.3% | 1.57
21112 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 424r7 180m? H=10.20m | M+2+Mk 719m* | 424% | 1.70
12112 | B B1 - YaurmiTe 13 (20%), max 20% 18559mm? 12991m? | H=12.00m | M+2 38974m? | 70.0% | 2.10
12113 | A Ad - 181m? 140m? | H=MocTojna | M1+1 279mz | 77.2% | 154 2113 ) A al B1, B1, B2 [13(30%) | BS (%), max 30% | S34m” 18" | H=1020m | M2+ | 473m* | 221% | 0.89
— . ' 21114 | A A1 B1, B1, B2, 3 (30%) ; B5 (5% 30% 214m? 104m? = 416m? 48.5% 1.94
12114 | A A B1, B1, B2, 113 (30%) ; 55 (5%), max 30% |  504m? 278m2 | H=10.20m | M+2+Mk | 1114m* | 46.9% | 1.88 I R - T ﬁa (300/”)j = (50/”)’ max 300/" 419m2 134m2 H=10.20m | M+2+lk 536m2 - 00/" —
12115 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 366 2242 | H=10.20m | M+2+Mk 895m? | 61.2% | 2.45 - . B1, B2, 3 (30%) ; BS (5%), max 30% m m H=10.20m | M2+l m —7 :
21116 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 2282 159m? H=10.20m | M+2+K 837Tm? | 69.7% | 2.79
12116 | A A1 B1, B1, B2, 3 (30%) ; b5 (5%), max 30% 378m? 163m? | H=10.20m | M+2+Mk | 650m? | 43.1% | 1.72 T A ~ B R o EE G — B o e 05 | 153
12117 | A A1 571, B1, B2, 13 (30%) ; B5 (5%), max 30% | _ 500m? 186m? | H=10.20m | M+2+Mk | 746m? | 37.3% | 149 T, - e A‘i é4 2"30/ { 2’0:;8’( ° 137m2 82”; H=10.20m | M+2+MIK 165"'2 60'10/" —
12118 | A Al B1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  409m? 237m? | H=1020m | M+2+Mk | 946m? | 57.8% | 2.31 a , A3, B4 (20%), max 20% m m H=6.00m f+l il kLl N
21119 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 320m? 14872 H=10.20m | M+2+Mk 501m? | 44.9% | 1.80
12119 | A A1 E1, B1, B2, 3 (30%) ; B5 (5%), max 30% 261m? 169m? | H=10.20m | M+2+Mk | 674m? | 64.6% | 2.58 o E = A 4 a0 e e o T T om
12120 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 159m? 74m? H=10.20m | M+2+Mk | 295m% | 46.3% | 1.85 T E = 5 i (3 ‘g;max °0° 683m2 339m2 H=6.00m M+l 2035mm2 49'6; o5
12121 | A A1 1, B1, B2, 13 (30%) ; 55 (5%), max 30% 2087 139m? | H=10.20m | M+2+Mk | 556m2 | 46.7% | 187 i B1, B2, B3, b5, B4, 13 (40%), max 40% m m H=17.00m | M+4+x o7 :
2112 | b B1 A1, A3, B4 (20%), max 20% 386m? 214m7 H=6.00m el 428m? | 55.4% | 1.11
12122 | A A1 E1, B1, B2, 3 (30%) ; 65 (5%), max 30% 294m? 120m? | H=10.20m | M+2+Mk | 481m? | 40.9% | 1.64
s TR o~ - i T e = o 7 21123 | A A1 B1, B1, B2, [13 (30%)  B5 (5%), max 30% 645m? 1867 H=10.20m | M+2+Mk 744m? | 28.9% | 1.15
= - . 21124 | A A1 B1, B1, B2, 13 (30%) ; B5 (5%), max 30% 475m? 136m? H=10.20m | M+2+Mk 545m2 28.7% 1.15
121241 A A2 - 875m? 304m? H=lMocTojna | M+4 1518m? 34.7% 1.73 21125 | A A1 B1, B1, B2, 43 (30%) ; B5 (5%), max 30% 166m2 66m2 H=10.20m | M+2+Mk 264m? 39.7% 1.50
12125 | A A1 E1, B1, B2, 03 (30%) ; 55 (5%), max 30% 3822 125m2 | H=10.20m | M+2+Mk | 5022 | 32.8% | 1.31 21126 | A A1 b1, B1, B2, [13 (30%) ; B5 (5%), max 30% 159m? 51m? H=10.20m | M+2+Mk | 204m? | 320% | 1.8 JNIEFEHOA:
12126 | A A1 E1, B1, B2, [13 (30%) ; B5 (5%), max 30% 368m? 125m2 H=10.20m | M+2+MK 502m? 34.1% | 1.36 21127 | A Al B1, B1, B2, [13 (30%) ; BS (5%), max 30% 245m® 115m? H=10.20m | M+2+Mk 459m° | 468% | 167 m mm  [PAHULA HA NNAHCKK OM®AT
o | A e o oir | oemoor _ ororr | 320 | 167 21128 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 306m? 159m? H=10.20m | M+2+Mk | 636m*> | 51.9% | 2.08 FPAHVILIA HA ENOK
- = +. -—— o
- m m ceTora m il 21129 | A A1 E1, B1, B2, 113 (30%) ; 65 (5%), max 30% | 299m? 150M? | H=10.20m | M+2+Mk | 637m? | 532% | 2.13 U
12128 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 344m? 149m?2 H=10.20m | M+2+Mk 595m? 432% | 173 21130 | A A B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 327m? 170m? H=10.20m | M+2+MK 681m? 52.0% | 2.08 e [PAHULIA HA HAMEHCKA 30HA
1.2.129 A A1 B1, B1, B2, 43 (30%) . B5 (5%), max 30% 376m? 128m? H=10.20m [M+2+T1k 512m? 34.1% 1.36 21.131 A A1 B1, B1, B2, O3 (30%) - B5 (5%)’ max 30% 380m? 118m2 H=9.00m n+2 354m2 31.0% 0.93 HYMEPALWIJA HA EHOK
12130 | A A2 B5 (15"/?‘)1(;) :/5;..5;‘(‘2(%/) ) Erfaf%ﬁé/); B3,O3 761m? 303m2 H=17.00m | M+4+mx 1820m? 30.9% | 239 21132 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 402m?2 148m? H=9.00m M+2 4442 36.9% | 1.11 11 HYMEPALIMJA HA FPATEXHA MAPLIENA
XTI v ST Bz" — Oés o ° o prEme e e A e E TR 21133 | A A1 B1, B1, B2, [13 (30%)  B5 (5%), max 30% 368m? 164m? H=10.20m | M+2+Mk | 655m* | 445% | 178 g
. = +0+
— 5 ’(150’/), éﬁl 5(4(203’) - 52( (3‘&?,@;3 ﬂ; m m m « m D . 21134 | A A1 B1, B1, B2, 13 (30%) ; B5 (5%), max 30% 551m2 132m? H=10.20m | M+2+Mk 528m?2 23.9% 0.96 ENEMEHTW HA YIIVYHA MPEXA
12132 | A A2 (40%) " BACI0%), max 40% 974m? 799m? | H=TlocTojua | M+4+Mk | 4795m* | 82.0% | 492 2113 | A A1 ; 4982 151me | H=loctojpa| N TBIme | 30.3% | 080 | e OCKA HA COOBPARAJHMLIA
12133 | A Al B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 472m? 159m? H=10.20m | M+2+Mk 635m? 33.7% | 1.35 21136 | A Al - 163m? 129m? | H=TocTojha |  M+1 258m? 79.3% | 1.59 PEMYAALVOHA IMHIJA 1O Ty
12134 | A A1 B1, B1, B2, I3 (30%) ; B5 (5%), max 30% 377m? 177m2 H=10.20m | mM+2+Mk 710m? 47.0% 1.88 21137 | A Al - 298m? 136m? H=locTojHa n 136m? 45.4% | 0.45 b
12135 | A A1 B1, B1, B2, 13 (30%) ; 65 (5%), max 30% 391m? 180m? H=10.20m | M+2+Mk 722m? 46.2% 1.85 21138 | A Al B1, B1, B2, 13 (30%) ; b5 (5%), max 30% 410m? 140m? H=10.20m | M+2+Mk S61m? 34.2% 1.37 e PEMYITALIVOHA NIMHAJA
12136 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 455m? 138m? H=10.20m | M+2+Mk 552m? 30.3% 1.21 21139 | A Al B1, B1, B2, 13 (30%) ; B5 (5%), max 30% 528m? 160m? H=10.20m | M+2+Mk 641m? 30.4% | 1.21 "PAHVLIA HA TPAOEXHA NAPLENA
12137 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 199m? 98m? H=10.20m | M+2+Mk 391m? 49.1% 1.96 21140 | A Al B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 196m= 108m? H=9.00m M+2 323m? 548% | 165 on
12138 | A A1 E1, B1, B2, 13 (30%) ; 55 (5%), max 30% | 2197 138m2 | H=10.20m | M+2+Mk | 550m% | 62.7% | 251 21141 | B B3 - My3ej - 304m? 176m? | H=octoja | M+l 353m* | 58.0% | 1.16 = [PALEXHA NIMHAJA
1.2.139 A A1 B1, B1, B2, A3 (30%) . B5 (5%)' max 30% 237m?2 124m?2 H=10.20m M+2+T1K 495m?2 52.3% 209 2.1.142 A A1 B1, B1, B2, 43 (30%) . B5 (5%), max 30% 213m? 94m? H=9.00m Mn+2 282m? 44.1% 1.32 — —— I'IOHSEMHA rPAﬂE)KHA HMHMJA
12140 | A A1 B1, B1, B2, 13 (30%) ; 55 (5%), max 30% 460m? 154m? H=10.20m | M+2+Mk 615m2 33.5% 1.34 21143 | A Al - 593m? 72m? H=Moctoja | M+1 143m? 121% | 024
12141 | A A1 1, B1, B2, 13 (30%) ; 55 (5%), max 30% 587 139m? | H=10.20m | M+2+Mk | 557m® | 23.7% | 0.95 21144 | A A1 - 564m? 160m? | H=MocojHa n 160m* | 28.4% | 028 H=16.00m  BUCOYMHA HA TPAIEHE
1.2.142 A A1 _ 300m? 126m2 H=TocTojHa M+1 253m? 42.1% 0.84 2.1.145 A A1 - 493m? 114m? H=ocTojHa n+1 228m? 23.1% 0.46 M+1+Mk KATHOCT HA OBJEKT
1.2.143 A A1 _ 127m? 46m? H=rocTojHa n 46m? 36.3% 0.36 2.1.146 A A1 B1, B1, B2, O3 (30%) ; b5 (5%), max 30% 348m? 202m? H=9.00m n+2 605m? 57.9% 1.74
12144 | A A1 B1, B1, B2, 13 (30%) ; 55 (5%), max 30% 2087 113m2 | H=10.20m | M+2+Mk | 452m? | 54.4% | 218 21147 | A A1 - 528m? 107m? | H=locTojHa n 107m? | 202% | 0.20 :I MOBPLWWHA 3A TPALIBA
12145 | A Al B1, B1, B2, 03 (30%) ; 55 (5%), max 30% 235m2 106m2 H=10.20m | M+2+Mk | 422m2 450% | 1.80 2.1.148 | A A1 - 238m? 80m? H=locTojHa n 80m? 337% | 034 |:| rPAJBA BO MOCTOJHA COCTOJBA
12146 | A A1 B1, B1, B2, 13 (30%) ; 55 (5%), max 30% 605m2 121m2 H=10.20m | M+2+Mk 484m? 20.0% 0.80 21149 | A Al - 259m? 99m?* H=locTojHa n 99m? 381% | 038
12147 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 276m2 136m? H=10.20m | M+2+Mk 544m? 492% | 1.97 21150 ) A A B1, B1, B2, [13 (30%) ; BS (5%), max 30% 376m? 164m? H=10.20m | M+2+Mk 655m? | 436% | 174 0%
12148 | A AT B1, B1, B2, 13 (30%) ; b5 (5%), max 30% |  319m? 228m? | H=1020m | M+2+Mk | 894m? | 701% | 280 21151 | A A1 B1, B1, B2, 13 (30%) ; B5 (5%), max 30% | 157m? 107 | H=1020m | M2+l | 426m* | 68.1% | 2.72 s HVIBEJIMAH NOAOMKEH
12120 | & 0 A2, A3, B3, B4, 55,4%3/, B3, B4 (40%) max | .. st | tetacom | meaere | arorme | 622 | 311 21152 | A A1 51, B1, B2, [13 (30%) ; B5 (5%), max 30% 438 150N H=10.20m | M+2+Mk 600m? | 34.3% | 1.37
J 2.1.153 E E2 - 30m?2 15m? H=4.0m n 15m? 49.3% 0.49 KﬂACA HA HAMEHA
1.2.150 A A1 - 112m? 100m? H=lMocTojHa | TM+1+[k 200m? 89.0% 1.78 BkynHo 59312n? 24329n? 83536m?2 41.0% 1.41 )
12151 | B B5 - 562 532m? | H=Moctojna | M+1+Mk | 1596m? | 946% | 2.84 A1 JONYBAFLE BO CTAMBEM KYRY 57563m?|  23375m? 80357m?| 206% 1 140 A [JOMYBAHE
12152 | A A2 BS (15%) ; B1,64(20%) ; B2 (30%) ; B3,A3 996m? 420m2 | H=17.00m | M+4+Mk | 2520m* | 422% | 253 51 - MATIA KOMEPLMJATIHA W [ENOBHN HA MEHU 732m? 424m? 776m?| 57.9% | 1.06
- (40%) ; B4(10%), max 40% - i - =21 - [E-r&7] [OMYBAHE BO CTAHBEHM KYK/
12153 | E |E2- kamva rapaxa B1, B2, B3, B4 (15%), max 15% 2002m? 1118m2 H=15.0m M2 3353m? | 55.8% | 1.67 B4 - NENOBHV MPOCTOPK 683m? 339m? 2035m?| 49.6% | 2.98 s OMYBAILE BO CTAHEEHY 3rPAIM
12154 | A A1 B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 390m? 180m2z | H=10.20m | M+2+Mk 721m? | 46.2% | 1.85 B3 - KYNTYPA - My3EJ 304m? 176m? 353m?| 58.0% | 1.16 A Al
12155 | A A1l 51, B1, B2, A3 (30%) ; 55 (5%), max 30% |  144m? 79m? H=10.20m | M+2+Mk | 318m? | 55.1% | 220 E2 - KOMYHATHA CYMPACTPYKTYPA - TPAGOCTAHALM 30m? 15m? 15m?| 49.3% | 0.49 BPEMEHO CMECTYBAHE
12156 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 781 2412 | H=10.20m | M2+ 964m? 30.9% | 123 COOBPAKAJ Vl 3ENERANO 12349m> @
12157 | A A1 B1, B1, B2, 3 (30%) ; B5 (5%), max 30% 376m? 220m? | H=10.20m | M+2+Mk | 881m2 58.5% | 2.34 BKYIHO BNOK 2.1 71662m*
12158 | A A1 E1, B1, B2, 13 (30%) ; 55 (5%), max 30% | 3987 21m? | H=10.20m | M+2+Mk | 883m2 | 55.5% | 2.22 B KOMEPUWJANHW N OENTOBHW HAMEHW
12159 | A A1 E1, B1, B2, 43 (30%) ; B5 (5%), max 30% 327 102m? | H=10.20m | M+2+Mk |  406m? 311% | 124
12160 | A A1 B1, B1, B2, 13 (30%) ; 55 (5%), max 30% 625m2 243m2 H=10.20m | M+2+Mk 973m? 38.9% 1.56 £ % —TE11 b1 - MANTM KOMEPLIWJANHW 1 OENOBHWA HAMEHW
12161 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 250m? 146m? | H=10.20m | M+2+Mk 583m? 58.4% | 2.33 361y n+122'nx 0/1 \
12162 | A A1 B1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  325m? 103m2 | H=10.20m | M+2+Mk | 413m | 31.7% | 127 ——Ep|] b2 - FONEMX TPFOBCKW EQUHMLIN
12163 | A A1 E1, B1, B2, 43 (30%) ; B5 (5%), max 30% 459m? 117m? | H=10.20m | M+2+Mk | 468m? | 25.5% | 1.02 54 - [IENOBHY MPOCTOPY
12164 | A A1 E1, B1, B2, 43 (30%) ; B5 (5%), max 30% 185m? 103m? | H=10.20m | M+2+Mk |  413m? 55.8% | 223 \ A1 ) 7 —{b4] i
12165 | A Al B1, B1, B2, [13 (30%) ; B5 (5%), max 30% |  164m? 104mz | H=10.20m | Me2+Mk | 414m* | 63.0% | 252 ) %38 %)) o B5 - XOTENCKM KOMMNEKCH
12166 | A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 157m? 64m? H=10.20m | M+2+Mk | 255m7 | 40.5% | 1.62 NP : —
12167 | A A1 B1, B1, B2, 3 (30%) ; B5 (5%), max 30% 425m? 70m? H=10.20m | M+2+Mk | 279m? 16.4% | 0.66 %f;ﬁ?%o
12168 | A Al B1, B1, B2, [13 (30%) ; B5 (5%), max 30% 322m? 127m? H=10.20m | M+2+Mk 507m? 39.3% | 157 2 B JABHN MHCTMTyLlMM
12169 | A A1 E1, B1, B2, 3 (30%) ; B5 (5%), max 30% 271m? 107m? | H=10.20m | M+2+Mk |  429m? 39.6% | 158 :
12170 | A A1 B1, B1, B2, 13 (30%) ; 55 (5%), max 30% 209m2 106m2 H=10.20m | M+2+Mk 424m2 50.8% | 2.03 ] B1 - OBPA3OBAHVE - Yunnuwre
12471 A A1 B1, B1, B2, 3 (30%) ; 55 (5%), max 30% 299m? 129m? | H=10.20m | M+2+Mk 516m? | 43.1% | 1.72 - — = ! ‘ X o N\ / .=\
o o R 7 e ! B3 - KYNTYPA - Mysej
12472 | A A2 BS5 (15%) ; B1,B4(20%) ; B2 (30%) ; B3A3 | g5 182m? | H=14.00m | M+3+Mk | 910m? | 27.1% | 1.35 yee)
(40%) ; BATO%), max 40% B4.- APYKABHW VHCTUTYLWM
12173 | A A1 - 354mm? 108m? | H=rocTojHa n 108m2 30.4% | 030 s - Flonnumja M 06jekT o4 nokanHa camoynpaga
12174 | A A1 - 342m? 97m? H=MocTojra | M+1 194mz | 28.3% | 057 . =
12175 | A A1 E1, B1, B2, 3 (30%) ; B5 (5%), max 30% 283m? 94m? H=6.00m M 188m2 332% | 066 |
12176 | A Al B1, B1, B2, 13 (30%) ; B5 (5%), max 30% |  240m? 103mz | H=10.20m | r+2+Mk | 411m? | 42.8% | 1.71 |' " ’ . - : / c [l 3EJIEHMNO U PEKPEALIMJA
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/ ) / g iz K =
12179 | E E2 - 23m? 13m? H=TocTojHa n 13m? 56.8% | 0.57 /g AT\ &1 X 22 MEX\Hs2 A\ <3 A Y A7 AL g 2l
Al -1 38/2 1 2ghs K04, HEBAT | o, p— 2\ 241K 24 S e \“aq\‘/
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